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@ 7(x+3)-1=20
@ [3x] > 18

® -3<x<9

@ 5x+Ty+9

® 2(-3x+5)=-6(x+1)+16



0

@ x-2

® 3x-—x=2x

@ 2x=x-1

-T7T—-x

® -8-—x

® 3+3x=3(x+1)



AP 2x - 4 = 8 & E7] SI5ke] off <H7]> 9] T4 9] 4
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[5]

H7]

@ a=bolHa+c=0b+c ot}
©a=bolHa-c=b-c°|th

© a=0>b °|9H ac = bc °]t}.

b

® azbolﬁﬂngolq. (Hc#0)
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2x +4 =10-4x

@ 2x-4x=10+4

® 2x+4x=10-4

@ 2x+4x=-10-4

@ 2x+4x=10+4

® 2x-4x=10-4



@ -4Ax+9=9-4x

® 3x-2=5x+38

@ x2+5x+6=x>+1

® 2x? -7 =x(2x-3)

® x(2+x)=2(x+1)



4] sk Lol ik ke shis?

@D b5x-—1=3x+3 @ x-2=4x-6-x
® 2(x-3)=8x-6 @ —(x-2)=x-2

®1-(x+1)=-2x+2
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A 1, 3AFEHof| QlTt.

® A (1, -4 5 At

@ x 9 grol S7Fstd y o gt Skt



9. HeFE2A2?
b
Dasbre=2L @ a+bxc=a=+bc
c
® ax(b+c)=a=+(b+c) @ a+b+c=a=+(bxc)

® a+b+c=ac=+b
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12. x9] gre] -2,-1,0,1,2,3¥ W, 3 + 2x = 3x + 1= HZ5l= &
“Fato2t.

R grx=



®a=0,b=0



14. A29] o7} 7tz 9] dolBtt 2 em?l AAE 9] Ee o] Zo|7}
24 cmolt}, ojuf, 7}k 9] Zol& Fstoizt.

D S cm
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Ay =ax? 2T

15.

® y=-3x

@ y=-2x

D y=-x

® y=-bx

@ y=—4x



16.

=9 2RIt H(4,-2) 8 A W, 0] FE Fotolet.



17. M Fa, b, col ot axe=5,ax(b-—c)=-25 < W, axb 2
@29

@® -20 @ -15 ® -10 @ 10 ® 15
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